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QUESTION 1
Identify three statements that are true about reservations in back-to-back processing.

A. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain
Orchestration work area.

B. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand
inventory.

C. Reservations cannot be created for back-to-back On Hand supply orders.
D. Partial fulfillment of reservations is supported.
E. One reservation is created for a demand and supply.

Correct Answer: ABE

QUESTION 2

For an Item to be enabled for back-to-back order process, which attribute do you need to set?
A. Organization attribute: Allow Back to Back Processing

B. Item attribute: Allow purchase orders off of sales orders

C. Item attribute: Reservations Enabled

D. Item attribute: Back-To-Back Enabled

E. Organization attribute: Allow Reservations

Correct Answer: D

QUESTION 3

A shipment has not yet been created for a pick that you are running. How is the due date calculated?
A. system date

B. request date from the order line

C. schedule ship date from the order line

D. earliest acceptable date from the order line

E. promise date from the order line

Correct Answer: C
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QUESTION 4

Your client wants certain inventory items of high importance to be counted periodically to improve the
average level of inventory accuracy.

What type of counting would you recommend?

A. Serialized Count

B. Manual Count

C. Cycle Count

D. Zero Quantity Count

E. Blind Count

Correct Answer: C

QUESTION 5

Which two statements are true in regard to using the Enterprise Structures Configurator?

A. The guided interview-based process helps you set up the enterprise with best practices.

B. It recommends job and position structures.

C. It creates the chart of accounts.

D. It allows you to create your Enterprise, Business Units, and Warehouses in a single step.

E. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration.

Correct Answer: AD
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